ACTIVITY 4

Q2. Find the product

59 x 30 =1770

297 x 50 = 14850
1225 x 20 = 24500
627 x 500 = 313500
99 x 200 =19800
136 x 400 = 54400
44 x 4000 = 176000
1203 x 700 = 842100
109 x 6000 = 654000
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Q3.Using suitable grouping , Find the product:

a. 2X65x5
65 X (2 x 5)
65 x 10= 650

b. 5x97x 20
97 x (5 x 20)
97 x 100 = 9700

c. 45x4 x 125
45 x (4 x 125)
45 x 500 = 22500

d. 2x627 x50
627 X (2 x 50)
627 x 100 = 62700

e. 4x48x 25
48 x (4 x 25)
48 x 100 = 4800



f. 615x50x?2

615 X (50 X 2)
615 x 100 = 61500

8x36 x125
36 x (8 x 125)
36 x 1000 = 36000

. 729x4 x25

729 X (4x 25)
729 x 100 = 72900

4xX72x125
72 x (4 x 125)
72 x 500 = 36000



